SYNERGEE

CABLE ATTACHMENT RACK

124




TOOLS REQUIRED

O N

17mm 325,

M10 Washer M10 Arc Washer M10 Hex Nut
7 - \
N7
14x 8x
M10 Hex Bolt
14x

IF ANY PIECES ARE MISSING, PLEASE CONTACT US IMMEDIATELY:
CUSTOMERCARE@IHEARTSYNERGEE.COM OR 1.855.217.7136




STEP 1




STEP 2

210 Mig




